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Biomechanics deals with which of the

following ?

(A) Force

(B) Balance and stability
(C) Motion

D) All of these

You are competing in a 100m race in Pool.
Each length of the Pool is 50m. What is
your displacement ?

(A) Om

(B) 50m

©) 100 m

(D)

In the running of 400m race, which type of

None of these

motion allows to do so ?

(A) Linear

(B) Angular

(0] Linear and angular
D) Static
Afastrunner:

(A) has a long stride and high frequency

(B) has a short stride and high
frequency

(©) has a long stride and low frequency

D) None of these

"Low center of Gravity leads to more
stability" The statement is :

(A) True

B
C
D

) False
) Sometimes true
) Can't say

(3)
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6. A large mass has greater : 6.
A
B
C
D) None of these

(A) Acceleration

(B) Momentum

© Velocity

(

7. What is Force ? 7.

A A push exerted on an object

(A)
(B) A push or pull exerted on an object
(€ A pull exerted on an object
D) None of these
8. With unbalanced forces, the object will move 8.
in the direction of — force.
(A) Larger
(B) Smaller
€ Equal
D) All of the above
9. Objects attraction to one another is called 9

like us to earth) :

(

(A)  Friction
(B) Inertia
€ Force
D) Gravity

10. An object at rest will

forces are applied.
(A) stay at rest
(B) increase velocity
€ decrease mass
(D)

D None of these
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1. For a force on an object there is an equal
and opposite force, is the :
(A) Newton’s First Law of Motion
B) Newton’s Second Law of Motion
(©) Newton’s Third Law of Motion
D) None of these
12. A force in the opposite direction to the
motion of the object will cause the object
to:
(A) Speed up
(B) Slow down
©) Tum
D) Crash
13. An example of linear motion is :
(A) Running
(B) Diving
€ Figure Skating
D) Sumo Wrestling
14. What information does a velocity give that a
speed does not give ?
(A) Rate of change of distance
(B) Direction
€ Unit of measurement
D) How fast something travels
15. If you can control both static equilibrium and
dynamic equilibrium, then you are :
(A) Balanced
(B) Static
(©) Accelerating
D) None of these
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16.

17.

18.

19.
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Newton’s First Law of Motion states that an
object will remain at rest or in it's current
state of motion unless :

(A) Acted upon by an unbalanced force
(B) It's mass is too great
€ It is pushed, kicked or hit

D) There is no gravity present

Neuton’s Third Law of Motion states that for

every action there is :

(A) An unbalanced force acting upon it

B) A chain of reaction

(©) An equal and opposite reaction

D) A range of possible outcomes that
may occur

A swimmer pushing his feet off the wall is an
example of which of Newton’s law of
motion ?

(A) Law of Acceleration

(B)

(C) Law of Inertia
)

A man wants to shoot an arrow so that it

Law of Action and Reaction
None of these

covers the greatest range (horizontal
distance). At what angle should he shoot
the arrow ?

(A) 10 degrees

(B) 45 degrees
© 60 degrees
(D)

D 90 degrees

(6)
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20. At which of the following places does a
projectile has the greatest velocity ?
(A) At the peak of its trajectory
B) Half-way up to the peak
© At the instant it is launched
D) It has the same velocity at all places
21. The three main factors affecting the trajectory
of a projectile are :
(A) Velocity of Release
(B) Height of Release
(©) Angle of Release
D) All of the above
22. Baseball pitch is an example of :
(A) Parabola
(B) Height
©) Flat
D) Linear
23. Velocity of release :
(A) is not important to a projectile
B) determines the angle of the
trajectory
(©) is a result of both vertical and
Horizontal velocity
D) None of these
24. You can improve stability by :
(A) Increasing base of support
(B) increasing the mass of a body
(C) Lowering the centre of Gravity
D) All of the above
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25. Stability of an object depends on :

(A) Where the mass of the body is in
relation to the velocity that it has
created

(B) Where the mass of the body is in
relation to its dynamic balance

© Where the line of gravity is in relation
to the base of support

D) Where the line of gravity is in relation
to the static balance

26. Endo skeleton involves :

(A) Covering of skin, hair, nails

B) Bones and cartilages

€ Bones only

D) None of the above

27. Exoskeleton involves :

(A) Covering of skin, hair, nails

(B) Bones and Cartilages

(C) Long Bones only

D) Short Bones only

28. Study of joints is called :

(A) Kinesiology

(B) Biology

€ Anthropometry

D) Arthology

29. The Path of an object project thrown into
free air space is known as :

(A) Speed

(B) Abnormal curve

€ Velocity

D) Parabola
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30.

31.

32.

33.

34.

35.

Boxer's muscles are :

(A) Trapezius

(B) Sterno  Cliedomastoid
(C) Abdominal

D) Deltoid

Neck joint is an example of :
(A) Pivot joint

(B) Hinge joint

€ Saddle joint

D) Condyloid joint
Trapeziums muscles help in :
(A) Pushing the neck backward
B) Punching

€ Raising the leg forward
D) None of the above

The strongest ligament of Hip joint is :

(A) Pub femoral

B) Ileofemoral

(C) Ischiofemoral

D) None of the above

Synovial joint is :

(A) Slightly movable
(B) Freely movable
©) Both (A) and (B)
D) None of the above

Which of the following is a fibrous joint ?

(A) Joints of the skull
(B) Joints of the fingers
€ Joints of the ribs
D) All of the above
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36. The terms, 'anterior and posterior’ are  36.

synonyms of :

(A) Frontal and back
(B) Vertebral and dorsal
(©) Lateral and medial
D) None of the above
37. The study of muscles is called : 37.
(A) Otology
(B) Anthropology
(C) Mycology
D) Anthropometry
38. At the time of release of discuss : 38.
(A) Centripetal force is more than
centrifugal force
(B) Centrifugal force is more than
centripetal force
€ Centripetal and centrifugal forces

D)

39. Newton’s Second Law of Motion is also  39.

known as :
(A) Law of Inertia
(B) Law of Action-Reaction
€ Law of Momentum
D) Law of Gravitation
40. Lever system prevalent in human arm is : 40.
(A) Class IlI
B) Class I
© Class |
D) None of the above
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41. Duration is @ measure of :
(A) Distance
(B) Displacement
(C) Force
D) Time
42 Speed is indicated in :
(A) km/sec?
(B) cm/hour
(€ Newton
D) km/hr
43. Imaginary line passing laterally from one
side to other is called :
(A) Sagittal axis
(B) Sagittal plane
€ Vertical axis
D) Lateral axis
44, Sideways bending of Trunk is an example
of movement in :
(A) Frontal plane and sagittal axis
(B) Sagittal plane and transverse axis
€ Sagittal plane and sagittal axis
D) Sagittal plane and lateral axis
45. In isometric contraction, the muscle :
(A) Shortens
(B) Lengthens
(©) Neither shortens nor lengthens
D) Shortens as well as lengthens
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46. Mechanics is the branch of Physics that
deals with bodies :
(A) At rest
(B) In motion
(©) Both (A) and (B)
D) None of the above
47. The branch of Mechanics, which deals the
force that produces or changes the state of
notion is :
(A) Kinematics
(B) Statistics
€ Biomechanics
D) Kinetics
48. Which type of lever is most effective in
sports movements ?
(A) Third class
(B) Second class
(©) First class
D) None of the above
49, Force generation but lengthening is also
known as :
(A) Eccentric contraction
(B) Isotonic contraction
€ Isometric contraction
D) Lateral back curve
50. Extension is a movement in which :
(A) Body part moves away from body
B) The angle of joint reduces
(€ The angle joint increases
D) Combination of all movements
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51. Sports Biomechancs can be described
as:
(A) Mechanics of sports
(B) Kinesiology
(C) Physics of sports
D) Sports Dynamics
52. Acceleration of an object will increase as
the net force increases depending on its :
(A) Density
(B) Mass
(C) Shape
D) Volume
53. In which of the following games friction acts
as a disadvantageous part?
(A) Racing
(B) Gymnastics
© Cycling
D) None of the above
4. The point through which the whole weight of
the body acts is called:
(A) Inertial point
B) Centre of gravity
© Centroid
D) Central point
55. The state of force is expressed by:
(A)  Weight
(B) Mass
(C) Magnitude
D) Longitudinal force
1106-A/100

51.

92.

3.

%4,

(13)

gq Aqai~=r & goN 7 3 ®g F
foram ST Hepe B -

A T B AR

B) WU fase

€ &d @ A

D) &« & T

I 99 Fg1 W Rl 98] & @01 98
S Y R R ®

A  TE W

(B) UM W

C) TR W

D) oMW" W

frfofaa & @ fg @9 & 9991 us
BN % @9 & B e & 7

A A

B) SIS

(C)  HERwT

0) S * q FE T

I8 forg e 8 R & W 9K
F HAT B, FHeA ¢

(A)  SEEd forg

B) oI

C) F=H

O @ Rrg

g o RAfy ... % & I B
S 2

A) 99X

B)  FEEM

C)  gRHMr

0)  oFee T

[P.T.O]



96. The force between two charged bodies is
called:
(A) Muscular force
B) Gravitational force
(©) Magnetic force
D) Electrostatic force
57. The force acting on an object may change:
(A) Direction
(B) Shape
(C) Speed
D) All of the above
38. What causes objects to fall slowly through
the air ?
(A) Weight
(B) Surface area
© Color
D) Mass
59. What is Pressure :
(A) A headache
B) Something we are all under
(0] The amount of force acting on an
unit of area
D) Terminal velocity
60. What is Air resistance ?
(A) The force of water
B) The force that opposes the motion
of objects falling through the earth’s
atmosphere
(C) A vacuum
D) Terminal velocity
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Example :

Question :

Q1 ® @ © ©
Q2 ® ® @ ©

Q3 ® @ © ©

4, Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.
8. There will be no negative marking.
9. Rough work, if any, should be done on

the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

1. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.
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